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BT-401(AT/CS/CT/CO/CI/EE/EX/EI/FTAT/MI)-CBGS
B.Tech., IV Semester
Examination, June 2020

Choice Based Grading System (CBGS)
Mathematics - I11

Time : Three Hours
Maximum Marks : 70
Note: 1) Attemptany five questions.
fergl dia Tedl Pl gt BT
ii) All questions carry equal marks.
Tl el b HHH 3P &
iii)In case of any doubt or dispute the English version
question should be treated as final.
feeft 3ff TP b g reran faarg &t fRufy 3 Siistt |t
& He D ST HHT STRAT

1. a) Findareal rootof the equation x* —9x+1 =0 by method
of false position.

TR x° —9x+1=0 & TP IR HH Biexd Ui
fafer grT S IR

b) Givensind5°=0.7071, sin50° =(0.7660, sin55° =(0.8192,
sin 60° = 0.8660, find sin52°, by using any method of
interpolation.
fear a1 & sind5° = 0.7071, sin50° = 0.7660,
sin55° = 0.8192, sin 60° = 0.8660, SCXATI Bt ft
o} {34y @7 9T @B sin 52° P ST DI

BT-401¢AT/CS/CT/CO/CI/EE/EX/EI/FT/IT/MI)-CBGS PTO



12]

2. a) Apply Lagrange’s formula to find f(5), given that
fF(M)=2,f(2)=4, f(3)=8. f(4)=16, f(7)=128.
SRS 3 b gRT f(S), U IR, fam ram 2

f()=2,7(2)=4, f(3)=8. f(4)=16, f(7)=128.

b) Given:
X: 0.1 0.2 0.3 0.4
y = flx): 1.10517 1.22140 1.34986 1.49182
d d’
Fmdd—i and T ; at x=04.
fer mr g
X: 0.1 0.2 0.3 0.4

vy =flx): 1.10517 122140 1.34986 1.49182

aﬂq Zﬁx 0.4 & forr s11a HRR

2

3. a) Findthe value oflog2 from J. =-dx, using Simpson’s

+)C

|
3 rule, by dividing the range into four equal parts.

IRER Bl TR aRIER YA § f39ch exep st S|
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b) Solvetheequations: 10x+ y+z=12:2x+10y+ z=13;
3x+2y+11z =16by Gauss-Seidel method.

MBI 10x+y+z=12; 2x+10y+z=13;
3x+2y+11z=16 BT MA-ea fofd gRr s HISR |

4. a) Apply Runge-Kutta method to solve the different equation

d.
IOd—i:x2+y2, y(0)=1 forx=0.1.

geheA TR 10%=x2 +y2, y(0)=1®x=01%
for ST-greer fafts grT S BRI

b) Solve the differential equation Z—y =x+y at x=0.3 with
X

modified Euler’s method, Given y (0) =1, h=0.1.

JraHAT FHIHRT %=x+y Bl x=0.3 R AIfSHizsS
X

IR faftr gRT o B, Rargan g y(0)=1, h=0.1

5. a) FindL{1+t3+e—3tsint+S]?[}

3. sint
oTg AR L{1+t3+e 3”s1nt+—}

t
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Find L{f2 sin r}

e HIRY L{z‘2 sint}

~ 1
aluate: L' { 5————
Evaluate : {Sz — b +18}

v on (1|
s°—6s+18

2 ]
Solve CjiTQ}_ 'Z: +2y=0,given y(0)=y"(0)=1, by

Laplace transformation method.

d’y
dr*
g v(0)=y(0)=1, g B

—2%+2y=0, fem

ATTRT wuTaRoT fafer gy

The Mean and Variance of a Binomial distribution are 4
4
and 3 respectively. Find the probability of

1)  Two successes
i1) More than Two successes

111) Three or more than three successes
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i fegiiegem & A1e U URR0T ST 4 3R % gl
UTRIGhdT S i |
i) gherdrai it
ii) T3 31fie TherdTal &t
ii1) o9 a1 = | 31t Aheranatt &t
b) Findthe Mean and Variance of the Poisson’s distribution.

yiae feeiiedem & for A1ed vd TRaRuT STl hifsrd |

8. a) Fit Poisson’s distribution to the following and calculate
theoretical frequencies

Deaths: 0 1 2 3 4
Frequencies: 122 60 15 2 1

ferferRae tR dfaeH feiegem o fhe Hifvrr 3k dgifas
TR S HfR|

gga 0 1 2 3 4
smafeRf: 122 60 15 2 1

b) Assume the Mean height of soldiers to be 68.22 inches
with a variance of 10.8 (in)>. How many soldiers in a
regiment of 1000 would you expect to be over 6 ft. tall?
Given that the area under the standard normal curve
between t = 0 and ¢ = 0.35 is 0.1368 and between r = 0

and r = 1.15 is 0.3746.
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o iford it area Sars, fasd) Ryard) it 68.22 <71, TR
10.8 (in)2 g1 39 FT JTHF SRR fds 1000 Rydrar &t
Xoite, foham RAuTer 6 hic | Sarer ofd & | feam gar &
TRAT 378} g ¥CUSS A d faed ™ =014 +=0.35 g,
0.1368 3R fSed = r=07d r=1.15 TG 0.3746 2l

sfeske e shesfe e
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